20233 = =0llah LS|

tol

A & 0ol & AF S H Al A

200 M4
B 200 FARAASY
s 211 Ay (9 &8)
Z.p-g-9 o &t o PJEL= IR HDS2
I 28,336,620 20,709,675  ~1,373,05
20 H2l+g 28,336,620 20,700,675  £1,373,05
210 ZAEH4L 17,374,982 13,972,545 3,402,437
211 HAreih4el 1,168,523 1,143,056 25,467
21101 FRIULAUE 10,000 10,000 0
[ ers) | 10,000 10,000 0
<AMD > 10,000 10,000 0
OIS ALBE 10,000, 0002 10,000
21102 BRHMAUE 1,158,523 1,133,058 25,467
[ s | 1,158,523 1,133,056 25,467
< 3D > 50,000 50,000 0
OBRML AYUE 50,000, 0002 50,000
< maser > 423,53 260,741 153,798
OSSHIEEX 38 HRPANY =X LUE
129%1x145,516.6m * 1228 225,250
O44E RSUE BOAE ASS 198,280, 0002 198,280
< oI ofeIDt > 3,454 2,287 1,167
oveY RN UHS(0ISSUSAI| 28)
389,21024:30H 1,167
OBRMULHAIR) H2E 2,287, 7902 2,287
< HSD > 3,290 3,29 0
O=78s AUE(ASYH) 490,000+ 11 490
OZBLANSS LUS(ASLH) 2,800, 0008 +1 2,800
<AMD > 3,000 3,000 0
OBSU4 AIBE 3,000,000 3,000
<Z2D> 3,000 3,000 0
OBRM 0= 3,000, 0002 3,000
< DS > 564,324 642,8% AT8,5T1
OBYRESFAE LUE 25,880
-5 7 HOY 24,400, 0002 24,400
-2 oS 1,480,002 1,480
OZDHAEDIE AIBE 266,663,000 266,668
OSTHGAEY ANEE 9,676, 160 9,676
0SB SHSVSH SLUDX 422
181,100, 0002 181,100
< ABAMD > 10,800 0 10,800
OORI0IZAT2INAME LUE(MBE)4Y
10,800,000 10,800




200 NI
2 210 BAEAM Y
& 211 Aol (S5 8)
o @odo 5 Ol &F of & E & 0] AkoH Hu=s2
< DHASROID > 180 141 39
OANSMa EX dUS(AAZW) 180,000 180
< QAHREASTE > 2,436 2,483 NAT
OAIR0F AlBS22 2,436,000 2,436
< BAY > 1,500 1,500 0
OZANBREEZ 100,000+ 154 1,500
< AlE22| 1t > 93,000 150,000 A57,000
OHRUEIME L PSMTLN AIBR 93,000
—AHRLIEIME ARY L USNE AER
3,000,000 3,000
—HFLIEIHEH HEZZAIE AESAEIH AAIBZ
80,000,000 80,000
—ASANMUN IHH AL=Z200E AR
10,000,000 10,000
212 AE2 Y 3,827,559 2,979,558 848,001
212-01 S2AI2E2 700,000 570,000 130,000
[ 2eta ] 700,000 570,000 130,000
<ER > 700,000 570,000 130,000
OE2 ¥=22 700,000,000 700,000
212-02 SIEAIERZ 1,600 1,600 0
[ 2eta ] 1,600 1,600 0
< OHNEZY > 1,600 1,600 0
OASIEEAIER 1,600,000 1,600
212-06 BR+=HAIES 13,000 13,000 0
[ 2et3 ] 13,000 13,000 0
<AL > 13,000 13,000 0
OBR4+H AIE22 13,000,000& 13,000
212-06 AIZAIRR 249,656 282,662 33,006
[ L3l ] 249,656 282,662 33,006
< KNSZHD > 197,976 282,662 N\84,686
OX=AEE 171,816
—ZUSAAIE 3,700,000« 122 44,400
—ZIASUAIE 503,000 * 12 7,116
—SIZ5UAIE 1,700,000 122 20,400
—ZUALAY 1,250,000 2«62 7,500
—Z0HAIE 6,700,000+ 12& 80,400
—ZIALAE 1,000,000 128 12,000
Oo-&AEE 26,160
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200 M2S
2210 ZARAIRISY
g 213 4842 (&
o @odo 5 Ol &F of & E & 0] AkoH Hu=s2
OBX4¢ 650,000+ 122 7,800
ORopIALZI| 42 100,000+ 122 1,200
< XEH > 10,200 10,200 0
OoIEJI8 X +¢ 850,000 * 12 10,200
< Chete > 4,200 4,200 0
OBX4+ 350,000+ 122 4,200
< BUs > 10,800 10,800 0
Oelsl I+ 900,000+ 12& 10,800
< EB0IE > 91,000 91,000 0
@) [EE= 7002%130,0008] 91,000
<ZAs > 24,000 24,000 0
OIUE=pIE=INEe] 100,000%202 128 24,000
< Biols > 10,800 10,800 0
oosllg BX+Y 10,800,0002 10,800
<28 > 20,400 21,120 AT
OBl £ 85,0002 x20 » 12¢ 20,400
213-02 HOISX2l+42 2,723,100 2,656,600 66,500
[ Let3lHl ] 2,723,100 2,656,600 66,500
< RrAz=stt > 2,675,000 2,656,000 19,000
OMYDIZSH 2SS T4 2,200,000,0002 2,200,000
OBSTHSASMYIIHeIL42 235,000,0002 235,000
OUgHIISxeI»=42 20,000,000 128 240,000
< MEBHIISD > 47,500 0 47,500
OHJI2 et 42 25,000%1,900& 47,500
< BAS > 600 600 0
OUEHIISAEIH THHSY 50,000+ 12 600
213-03 MHESESHEBUNSL 286,800 240,000 46,800
[ 2eta ] 286,800 240,000 46,800
< MEEHD|I2D > 286,800 240,000 46,800
OME2E $HEH = 23,900,000+ 122 286,800
213-04 BHo 2442 403,604 412,883 A9,279
[ Luetg|H ] 403,604 412,883 19,279
<2AHFD > 73,926 85,553 A11,627
OS2l &t RtE 2| 49,693
= INES 6,630 x1002 » 12 7,956
—SEX2 86,6302 x1802% » 12 14,320
—S3XA 4,930 50 * 12 2,958




00 1 02

200 M2l
210 3EAN A+

213 4242

o
10
i
{0

282 of & o rSJEL= IR CmEES
— & &R A 4,9302+108~ 123 591
—&E XA 6,630& x200F 122 15,912
—CH R 6,630 «100H 128 7,956
OXlt2tkt J=dl 673
—=S3=Xx 5,610&*108+12& 673
Oster et HEl 2 H| 23,560
=2 PNEN 5,610& 50« 128 3,366
—=28Xx 5,610 408« 123 2,692
IR FS PNEN 5,6102 120+ 128 8,078
R E=PNEN 5,610 100« 128 6,732
—CH R 5,6103 408« 12& 2,692

< HBSE > 109,652 106,971 2,681
O=Z0AHZd 8+ 2,700,000& 2,700
OL=RaES = PN XN =L 40,728
— otz =g 33,660,000& 33,660
—XI DHE B4 36,0002 336
—stal g 6,732,000 6,732
ORZEH+2 42,864, 0002 42,864
OZA=E+ 18,000,000 18,000
OugEELY 5,360
-0 HLES= 12,000%100H 1,200
—BEZE NYES= 5,200+800F 4,160

< SgEA > 149,746 146,568 3,178
Ot itz g 50,490
—9l 3 WR4Y 56102145002 122 33,660
~X 3 WE4 5,610214502¢ 122 3.366
—&tgt dEg 5,610&*200E * 12& 13,464
OugEELY 7,240
—EI0 HYRER 11,0002 +200 2,200
—BEZE NYES= 5,040& 1,000 5,040
OMzsZ &5 =2 17,8602 x300F * 12& 64,296
OAYRE 47 3,000+7702 122 27,720

< ZAEAXA > 70,280 73,791 A3,511
Olfretit d=dl 5,610+45%E x 12& 3,029
OX| etk M=l 5,61010E+12& 673
OSARSA o\ DEX ISH] 66,578
—NZEAHE=A 8, 160+50H 123 4,8%
—AEBEAHTS A 8,160+708 « 12& 6,854
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200 KI2I%2)
210 FAEH 2+

213 24249

09 18 0

o
0
o
[0

o @odo 5 Ol &F of & E & 0] AkoH Hu=s2
< E0kE > 30,000 30,000 0
OsAlgMYDIHelxx2 50,0002 x2003 10,000
OUEHIISAEIHER S 5,0002 *4,0003] 20,000
<ZAs > 12,240 12,240 0
OsalgMd|x42 220,000% 104 2+ 1204 & 2,640
OHII2AEIH B2 40,0000+ 122 9,600
< BfoIS > 2,000 2,000 0
Osa8M DI 1,000,000 1,000
OUEHIIZ Mela=+2 1,000,000 1,000
<25 > 9,000 9,000 0
OUEHIISAEI AT 2 750,000 * 12 9,000
214 Ard4-¢ 1,516,000 1,555,500 39,500
214-01 AP T A Ak2Q 76,000 114,500 A38,500
[ LutglH ] 76,000 114,500 38,500
< MEHD|I2D > 76,000 101,500 A25,500
OXSIAIE ElHI(HIZ) B4 1,000%45, 000X 45,000
OH\E B4 310,000%100E 31,000
214-05 J|EFAIS =2 1,440,000 1,441,000 21,000
[ LuetglA ] 1,440,000 1,441,000 1,000
<NEY > 1,440,000 1,440,000 0
OSRA B ¢ 120,000,0002 128 1,440,000
215 A4ne34¢ 2,821,800 2,047,000 774,800
21501 A4xn8324¢ 2,821,800 2,047,000 774,800
[ 2eta ] 2,821,800 2,047,000 774,800
< HIED > 2,500,000 1,700,000 800,000
(OFESmE F= el 2,500,000
L RS E=ImE 2,500,000,0002 2,500,000
< QAT =D > 7,000 7,000 0
ONgRea AL442 7,000,000 7,000
< 2HH > 109,800 135,000 A25,200
O =P/ PaE=i=FSEamEr=) 1,220,000,000%9/100] 109,800
< OHNZEZY > 5,000 5,000 0
Osta=EAIRR 5,000,000 5,000
< 5ot > 200,000 200,000 0
SN2XLL2 ALW22(+42)
200,000,0002 200,000
216 Ol Rt==¢ 3,086,156 1,286,428 1,799,728
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200 M2S
2210 ZARAIRISY
gk 216 Ol Ktz=2 (G2 &)
o @odo 5 Ol &F of & E & 0] AkoH Hu=s2
OJIEFOI RF=E 30,0002 30
<35> 20 2 18
OJIE} O Rt 10,0002 *23] 20
220 AAFAI2I4L 9,275,189 13,866,691 A4,591,502
221 THAHDH 242 250,200 250,200 0
21-08 S22 200,000 200,000 0
[ Let3lHl ] 200,000 200,000 0
< 3D > 200,000 200,000 0
ORESHE UBHTHAH IH2USL 200,000,000 200,000
21-04 SSE02UZ2 50,200 50,200 0
[ 2ets ] 50,200 50,200 0
< 3HD > 50,000 50,000 0
OEZEE 2 4 50,000,000 50,000
< CARA2HD > 200 200 0
OSSZ02H 50,000%43] 200
222 TXISRZiR e = 70,000 70,000 0
222-01 XM 2L2SS 70,000 70,000 0
[ L3l ] 70,000 70,000 0
< RrAz=stt > 70,000 70,000 0
OF Y02 FUXRAY XS (=HAIXXISHOIFS)
70,000,000 70,000
223 BX 3Bt 1,450 0 1,450
223-02 XM XSS 1,450 0 1,450
[ Let3lHl ] 1,450 0 1,450
< XSZFHMD > 1,450 0 1,450
02022 AAHZQ0 ALSAAIY AlH| RSEH S BHt
1,450,000 1,450
224 J|Et ¢ 8,113,539 12,726,491 N4,612,952
224-04 XIXTHEAMEE S 697,000 2,393,000 A 1,696,000
[ 2et33H ] 697,000 2,393,000 21,696,000
< QIAXH D > 697,000 2,393,000 A 1,696,000
@OUNE=PUEININI=: e = 697,000,000 697,000
2405 NYNEHLARE S 6,000,000 0 6,000,000
[ 2et3 ] 6,000,000 0 6,000,000
< HIED > 6,000,000 0 6,000,000
OXguEA SEE(XNYAHIM SIH)
6,000,000,0002 6,000,000
224-07 12|42 1,416,539 10,333,491 8,916,952
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